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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 7 × 1 = 7
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 1 mark.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
1 A§H$ H$m h¡&

685

CH-03 / 2100 / 6 	 (1)	 (P.T.O.)



685

CH-03 / 2100 / 6 	 (2)	 (Contd.)

1)	 (i)	 Explain that Gas can not be liquefied by the application of 

pressure above their critical temperature.

		  g‘PmB¶o {H$ H$m{R>VH$ Vmn‘mZ go Cna J¡g H$m Xm~ ~T>mH$a Cgo 
ÐdrH¥$V Zht {H$¶m Om gH$Vm h¡?

	 (ii)	 Define mean free path.

		  ‘mÜ¶ ‘wº$ nW H$mo n[a^m{fV {H${O¶o&

	 (iii)	 Arrange the following ion in increasing order of their 

precipitating power K+, AI3+, Ba2+.

		  {ZåZ{b{IV Am¶Zm| H$mo CZH$s AdjonU j‘Vm Ho$ ~T>Vo hþE H«$‘ ‘| 
ì¶dpñWV {H${O¶o& K+, AI3+, Ba2+.

	 (iv)	 What are cottrell precipitator? Give their application.

		  H$m°Q´>ob AdjonH$ ³¶m hmoVo h¡? BZH$s Cn¶mo{JVm ~VmB¶o&

	 (v)	 Write the law of constancy of interfacial angle.

		  AÝVam’$bH$ H$moU H$s pñdaVm H$m {Z¶‘ {b{I¶o&

	 (vi)	 A first order reaction is completed 50% in 20 minutes. 

Calculate its rate constaut.

		  EH$ àW‘ H$mo{Q> A{^{H«$¶m 20 {‘ZQ> ‘| 50% nyU© hmoVr h¡ Vmo BgHo$ 
{b¶o doJ pñWam§H$ H$s àUVm H$s{O¶o&

	 (vii)	How the half life of a second order reaction depends on 

mitial concentration of reactants?

		  {ÛVr¶ H$mo{Q> A{^{H«$¶mAmo H$m AY©Am¶wH$mb {H«$¶mH$maH$m| H$s àmapå^H$ 
gmÝÐVm na {H$g àH$ma {Z^©a H$aVm h¡?
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	 Section - B	 4 × 3.5 = 14
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 3.5 marks.

IÊS> - ~
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 3.5 A§H$m| H$m h¡&

2)	 Define Probability. Differentiate following with respect to x
	 y = yx2 + 2x4 + x3+6

	 àm{¶H$Vm H$mo n[a^m{fV H$s{O¶o& {ZåZ{b{IV H$m x Ho$ gÝX^© ‘| AdH$bZ 
H$s{O¶o&

	 y = yx2 + 2x4 + x3+6

3)	 What are operating systems. Write main function of it.

	 AmnamoqQ>J {gñQ>‘ ³¶m hmoVo h¡? BgHo$ ‘w»¶ H$m¶m} H$mo {b{O¶o&

4)	 Write important postulates of kinetic theory of gases.

	 J¡gmo Ho$ AUwJ{VH$ {gYmÝV Ho$ ‘w»¶ A{^J«{hV {b{I¶o&

5)	 Explain in short Intermolecular forces in liquids.

	 Ðdm| ‘| CnpñWV AÝVam{UH$ ~bm| H$mo g§{já ‘| g‘PmB¶o&

6)	 Explain the following.

	 {ZåZ{b{IV H$mo H$maU XoH$a g‘PmB¶o&
	 (i)	 Why the alom is addes to Dirty Water?

		  J§Xbo nmZr ‘| {’$Q>H$ar ³¶m| {‘bmB© OmVr h¡?
	 (ii)	 Why the colloided medicine are more effective?

		  H$mobm°¶S>r Am¡f{Y¶m A{YH$ à^mdr ³¶m| hmoVr h¡?
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	 (iii)	� Charge on colloidal particles is must for their stability, 

why?

		�  H$mobm°¶S>r H$Um| na CnpñWV Amdoe CZHo$ ñWm{¶Ëd Ho$ {bE Amdí¶H$ 
h¡, ³¶m|&

7)	 What do you mean by rate of reaction and order of reaction? 

Discuss the factors which influences the rate of reaction.

	 A{^{H«$¶m doJ VWm A{^{H«$¶m H$mo{Q> go Amn ³¶m g‘PVo h¡? CZ H$maH$mo 
H$m C„oI H$s{OE& Omo A{^{H«$¶m doJ H$mo à^m{dV H$aVo hmo&

8)	 Explain the following with giving examples.

	 {ZåZ{b{IV H$mo CXmhaU XoH$a g‘PmB¶o&

	 (i)	 (Crystalline and Amorphus solids)

		  {H«$ñQ>br¶ VU A{H«$ñQ>br¶ R>mog

	 (ii)	 Isotropy and Anisotropy

		  g‘X¡{eH$Vm VU {df‘X¡{eH$Vm
	 (iii)	 Primitive and Non-primitive unit cell

		  AmÚ VU AZAmÚ BH$mB© H$mo{ð>H$m

9)	 Describe integrated rate a method and differential rate method 

for determination of order of reaction.

	 A{^{H«$¶m H$s H$mo{Q> {ZYm©aU H$aVo hoVy AdH$bZ doJ {d{Y VWm g‘mH$bZ 
doJ {d{Y H$m dU©Z H$s{O¶o&
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	 Section - C	 2 × 7 = 14
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
7 marks.

IÊS> - g
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 7 A§H$m| H$m h¡& 

10)	 State Maxwell's law of distribution of molecular speeds 

amongst the molecules of gas. What do you mean by most 

probable veloctiy, root mean square velocity and overage 

velocity? What is rational relationship in them.

	 J¡g AUwAmo Ho$ ‘Ü¶ AmpÊdH$ doJmo Ho$ {b¶o ‘o³gdob {dVaU {Z¶‘ {b{I¶o& 
àm{WH$V‘ doJ, dJ© ‘mÜ¶ ‘yb doJ Am¡a Am¡gV doJ go Amn ³¶m g‘PVo 
h¡? BZ‘o nañna ³¶m AmZwn{VH$ g§~§Y hmoVm h¡?

11)	 What are low level languages in a computer. Discuss two low 

level languages with giving differences between them.

	 H$åß¶yQ>a ‘| {ZåZ ñVar¶ ^mfmE ³¶m h¡? Xmo {ZåZ ñVar¶ ^mfmAm| H$m 
dU©Z H$a Bg‘o AÝVa ~VmB¶o&

12)	 Describe the method for preparation of colloidal solution.

	 H$mobm°¶S>r {db‘V ~ZmZo H$s {d{Y¶m| H$m dU©Z H$s{OE?

13)	 (i)	 Discuss crystal structure of NaCl.

		  NaCl H$s {H«$ñQ>b gaMZm H$s ì¶m»¶m H$s{O¶o&



685

CH-03 / 2100 / 6 	 (6)	

	 (ii)	� The first order reflection of a beam of X-ray from d100 

planes of NaCl crystal occures at 6.1o. Calculate the 

wavelongth of X-rays. (For NaCl a = 5.64Ao and sin 6.1 = 

0.106)

		�  NaCl Ho$ d100 Vbmo go X -{H$aUmo H$m àW‘ H$mo{Q> namdV©V 6.10 
H$moU na hmoVm h¡& X-{H$aUm| H$s Va§JXoÜ¶© kmV H$s{O¶o

		  (NaCl Ho$ {bE a = 5.64Ao  VWm sin 6.1 = 0.106)


